12”0555 (K12n0555)

Linearized knot diagam

/
LN R

6 8 10 12 2 4 3 11 4 1 5

Solving Sequence

4.8 — — 29 — —> — 0.11 » —> — Co,Cs,Cq, C
Aknotdiagranﬂ " cs 3 cg 7 cl 1 cr 7 e 0101004 5> 12— 2,656,011

Ideals for irreducible component#ﬂ)f Xpar

I'={d—u, —u'+ud+2c—u—-1, u* +u+2b+u—1, —u* —u® + 20 —u—1, v’ +u® +u®+2u—1)
Iy =(d—u, W2+l +2e—3u+1, b4+1, v +u+2a—3u+1, ub —u” 4+ 2u8 — 20 + dut — 30 + 202
I3 = (d —u, w420 +u?+2c—3u+1, u —2u® + 20 — 2ut 4+ 4ud — 5u + 20+ u — 1,
—u” 4 2u® — 2u5 + 2ut —4ud +5u® 4+ 20 —u— 1, u® —u” +2u® — 205 + dut — 3B + 20 + 1)
I = (—u® — 2u® +u? +2d + 2, —u” +u® — 3u® +3u — 3u® +5u® +4c—4u+4, b+1,
—u” +ub =30 +ut — 3ud +u? +da—2u, ub —u” + 3u’ — 3u® + 3ut — 50 4 4u? — du +4)
Igz(u7—2u6+2u5—4u4+4u3—5u2+2d+3u—1, —u" 4 ub = 20° 4+ 2u* — 4 + 3u + ¢ — 2u,
u =28 4+ 2u° —2ut + 4w — 5P+ 20+ u—1, —u" 4+ 2u8 — 2u° + 2ut — 4P +5uP + 20 —u—1,
u® —u” 4+ 2u8 — 2uP 4 4ut — 3ud + 2u% 4 1)
I§ = {d—u, wW—ut+ 2P+ e—u—2b+1, v +ud+2a+u—1, u6+u4+2u3+u2+u+2)
F=(-uw+d-1, v’ —u* 20> +2c—u—1,b+1, v +u®+2a+u—1, u® +u* +2u® +u* +u+2)
={(-u+d—-1, —u® —u® —2u>+2c—u—1, —u® —u* — 20> +b—3u—2, v’ +u* +2u* +a+3u+1,
ub +ut 4 203 +u® 4 u+2)
Iy ={d—u,c+2,b+1,a*—a+u+1, v +u+1)
Iy=(—u+d—u+1, —v* +u* +c—2u+2, b+1, —u®+a—2u, u* —u®+2u* —2u+1)

IThe image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

111 =
Iy =

(—*+d—u+1, v +u+c—2u+2, b+1, ud +a+2u—1, u4—u3+2u2—2u+1>
WP +d+2u—1, —ud +u+c—2u+2,b+1, —u®+a—2u, u* —u®+2u? —2u+1)
Iy =(au+d, c—u—1,b4+1,a>—a+u+1, u* +u+1)

Iy =(d*+du—u, c—u—1,b+2u, a—2u—1, u* +u+1)

It =(d, c—u, b+u+1,a—u, u* +1)

Iy ={(d+u, c—u+1,b+1, a—1, u* +1 >

It ={d+u, c—u+1,b+u+1, a—u, u*+1)

I =(d+u, ca—au+u+1, b+a+1, u> +1)

I'={(a, d4+v, —av+c+v+1, b+1, 02 +1)

* 18 irreducible components of dim¢ = 0, with total 87 representations.
* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(d—u, —u*4+u®+2c—u—1, v*+ud+2b+u—1, —u* —u+
2a —u—1, u5 +ud+u?+2u—1)

(i) Arc colorings

o ()

ag =

az =

as = 1,4 _ 1,3 _ 1 1
2 U QU sU+ 3
U
aq = 3
9 u” +u
bt bt 4 du g}

a] = 1.4 1,3 1 1
1 U™ —3U” —3u+3

ag = 1,4 1,3 _ 1 1
6 U U U+ 3
1,4 1,3, 1, 1
QU gU” +3u+ 3
ail = u
1,4 1,3 _ 1 1
QU U U+ 3
aip = u

(

(

(

(

(
o ()

(s

(
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u* + 4u® + 4u + 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 u® + 2ut + 5u + 3u? + 6u—1
C2,C3,C4
ub 4w +u? 4 2u—1
Cs5,C6, CT
Cg, €10, C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5 4 3 2
C1,C9,C11 y° + 6y~ + 25y° 4+ 5y + 42y — 1
C2,C3,C4
cs, Cg, C7 v+ 2yt + 5% + 32 + 6y — 1
€8, €10, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape
u = —0.828442 + 0.8126981
a = —0.284015 + 0.9398241
b= 1.28401 — 0.939821 4.34615 — 6.579431 7.72788 4 7.518591

c = —1.356950 — 0.1967101
d = —0.828442 + 0.8126981

u = —0.828442 — 0.8126981
a = —0.284015 — 0.9398241
b= 1.28401 + 0.939821

¢ = —1.356950 + 0.1967101
d = —0.828442 — 0.8126981

4.34615 + 6.579431

7.72788 — 7.518591

u= 0.633508 + 1.2260401
a = —1.08404 — 1.281981
b= 2.08404 + 1.281981
c= 1.51852 —0.915181
d= 0.633508 + 1.2260401

—2.1892 + 16.86911

1.32766 — 10.255851

u= 0.633508 — 1.2260401
a = —1.08404 4 1.281981
b= 2.08404 — 1.281981
c= 1.51852 +0.915181
d=10.633508 — 1.2260401

—2.1892 — 16.86911

1.32766 + 10.255851

u= 0.389868
a= 0.736115
b= 0.263885 0.620982 15.8890
c= 0.676856
d= 0.389868




IL 1Y =
(d—u, u"+2u3+---+2¢c+1, b+1, u"+u?+2a—3u+1, ud—u+---+2u?+1)

(i) Arc colorings

o ()

0
ag = U
1
a3: u2
1,7 1.2, 3 1
(_2u — 2t +2“—2>
ag =
u
ag = \y3+u
—u—wd -t u—2
ar = %u7 u3—§u +§u—%
—u
a7: u
—u” +ub — 20’ 4 2u? — 43 + 3u? — 2u
ag = 1u7+u6+~-~—2u+7
T - = b Ju—
ail = u
1,7 3 1,2, 1 1
aip = u
%u77u6+'~+%u+%
as = —U2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 2u® — du* + 6u> — 12u? + 6u + 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u® +5u” + 9u® + 7u’ + 3ut — u® + 16u + 16
C2,Cg u® — "+ 3u® — 3w +3ut —5ud +4u? —du+4
€3,C4,Cs
¢7, s, C10 u® —u” +2ub — 2u° 4 4ut — 3uP + 2u% + 1
C12
co, C11 u® + 3u” + 8u® + 10u® + 14u® + 1% + 12u® + 4u + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y® — Ty" + 17y5 + 1555 — 105y + 63y° + 128y> — 256y + 256
€2, y® +5y" +9y° + 7y° + 3y* — ¢ + 16y + 16
€3,C4,C5

C7,C8, C10 y® +3y7 + 8y° + 1095 + 14y* + 1193 + 129% + 4y + 1

C12

cg, C11 y® + Ty" + 32y° + 82y° + 146y + 151y> + 84y + 8y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.862697 + 0.6154011
0.886105 + 1.0903801
—1.00000 4.15083 4 0.667221 8.81639 — 2.106271
1.224210 — 0.0505811
0.862697 + 0.6154011

S ST
([

0.862697 — 0.6154011
0.886105 — 1.0903801
—1.00000 4.15083 — 0.667221 8.81639 + 2.106271
1.224210 + 0.0505811
0.862697 — 0.6154011

0.578102 + 1.0553301
0.102567 — 0.7322091
—1.00000 —5.02390 + 6.794021 0.88161 — 7.094731
1.84091 — 0.614941
0.578102 + 1.0553301

0.578102 — 1.0553301
0.102567 + 0.7322091
—1.00000 —5.02390 — 6.794021 0.88161 + 7.094731
1.84091 +- 0.614941
0.578102 — 1.0553301

> Q2 Bl 0 o8 g0 o9 £l o
([ I

—0.666851 + 1.1555301
0.821510 — 0.7564881

= —1.55320 — 0.755111
= —0.666851 + 1.1555301

= —0.666851 — 1.1555301
= 0.821510 + 0.7564881
= —1.00000 0.65207 4 10.989401 4.47099 — 7.147731
¢ = —1.55320 4 0.755111
d = —0.666851 — 1.1555301

c
d
U
a
b = —1.00000 0.65207 — 10.989401 4.47099 + 7.147731
c
d
U
a
b
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

—3.06886 — 1.276801

5.83102 + 5.885141

—0.273948 — 0.5200741
—0.810182 — 0.9108431
—1.00000

¢ = —1.011910 — 0.9344211
d = —0.273948 — 0.5200741

u = —0.273948 + 0.5200741
a = —0.810182 + 0.9108431
b = —1.00000

c = —1.011910 + 0.9344211
d = —0.273948 4 0.5200741
U

a

b

—3.06886 + 1.276801

5.83102 — 5.885141
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L. I =(d—u, u" +2u® 4+ -+ +2c+1, u" —2u® +-.- +2b— 1,
2u8 + - +2a—1, ud —u" + -+ 2u% + 1)

(i) Arc colorings
1
ag = O
ag = (
asz = (
ag = (
ag = (
JuT —ub Lt g
a; = _1 7+u5+..._lu+l
2 2 2

a7 =

1,7 _ .6 ... 1 1
U —u + +2“+2)
—u?

—ub +ud —ut +2u® — 3u? + 2u
aip = wb + ut — ud + 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 2u® — 4u* + 6u3 — 12u? + 6u + 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C9 u® +3u” + 8ub + 10u® + 14u + 11w + 120 + 4u + 1
C2,C3,C4
C6, C7, Cs u® —u” +2ub — 2u° 4 4ut — 3u + 2u% + 1
C10
c5,C12 ud —u” +3ub — 30’ +3ut —5ud +4u® —du+4
C11 u® 4+ 5u” + 9ub + Tu® + 3ut — wd + 16u+ 16
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,co y® + Ty" + 3245 + 829 + 146y* + 151y° + 8432 + 8y + 1
C2,C3,C4
8 7 6 5 4 3 2
C10
Cs,C12 y® 4+ 5y" 4+ 9y° + Ty° + 3y* — y* + 16y + 16
11 y® — Ty" + 17y5 + 15y° — 105y + 63y° + 128y> — 256y + 256
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.862697 + 0.6154011
—0.087246 — 0.7097421
1.087250 4 0.7097421 4.15083 4 0.667221 8.81639 — 2.106271
1.224210 — 0.0505811
0.862697 + 0.6154011

S ST
([

0.862697 — 0.6154011
—0.087246 4 0.7097421
1.087250 — 0.7097421 4.15083 — 0.667221 8.81639 + 2.106271
1.224210 + 0.0505811
0.862697 — 0.6154011

0.578102 + 1.0553301
—0.71320 — 1.587281
1.71320 + 1.587281 —5.02390 + 6.794021 0.88161 — 7.094731
1.84091 — 0.614941
0.578102 + 1.0553301

0.578102 — 1.0553301
—0.71320 + 1.587281
1.71320 — 1.587281 —5.02390 — 6.794021 0.88161 + 7.094731
1.84091 + 0.614941
0.578102 — 1.0553301

> Q2 Bl 0 o g0 o9 g0
([ I

= —0.666851 + 1.1555301
= —0.90831 + 1.291231

= —1.55320 — 0.755111
= —0.666851 + 1.1555301

= —0.666851 — 1.1555301
= —0.90831 — 1.291231
= 1.90831 + 1.291231 0.65207 4 10.989401 4.47099 — 7.147731
¢ = —1.55320 4 0.755111
d = —0.666851 — 1.1555301

c
d
U
a
b= 1.90831 —1.291231 0.65207 — 10.989401 4.47099 + 7.147731
c
d
U
a
b
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.273948 + 0.5200741
= 1.20876 + 0.782251

= —0.208757 — 0.7822521
—1.011910 + 0.9344211
—0.273948 4 0.5200741

—3.06886 — 1.276801

5.83102 + 5.885141

—0.273948 — 0.5200741
1.20876 — 0.782251
—0.208757 + 0.7822521
¢ = —1.011910 — 0.9344211
d = —0.273948 — 0.5200741

U
a
b
c
d
U
a
b

—3.06886 + 1.276801

5.83102 — 5.885141
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IV. I} =(—u’ —2u®+u?+2d+2, —u"+uS+.--+4c+4, b+ 1, —u” +
ub +--.+4a —2u, u¥ —u" + .-+ — 4u + 4)

(i) Arc colorings

o ()

ag =

a3: u
1 1,6 1,2 1
az = -1
U
ag = \y3+u
iu7—£u6+--~+%u—1
—%u7—|—%u6+--~—2u—|—1
—u
a7: u
1,7 1,6
—qu'+qui+-—u+1
ag = 5 3

iu —%uﬁ—i— +u—1
a1 = %us—l—u?’—%uQ—l

%u7f%u6+~~ %u2+u
aip = %u5+u37 %uz -1

(
(
(
(
o=
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes = u” + 3u® + v’ + 3u* — v® + u? — 6u + 10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C9,C11 u® 4+ 3u” + 8ub + 10u® + 14u* + 110> + 1202 + du + 1
€2,€4,C5 w® —u" 4208 — 20 4t — 3w+ 2+ 1
C6,C10, C12
c3,C7,C8 u® — 4"+ 3u® — 3w +3ut — 5l +4u? —du+4

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, g, C11 y® + Ty" + 3245 + 829 + 146y* + 151y° + 8432 + 8y + 1
2,64, 65 v+ 3y" + 8y® + 10y° + 14y* + 113 + 1292 + 4y + 1
Cg,C10, C12
c3,C7,C8 y® +5y" +9y° + 7y° + 3yt — 42 + 16y + 16

19



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.993174 + 0.2982131
0.70455 + 1.252191
—1.00000
—0.923603 4 0.2773241
—0.666851 + 1.1555301

S ST
([

0.65207 — 10.989401

4.47099 + 7.147731

0.993174 — 0.2982131
0.70455 — 1.252191
—1.00000
—0.923603 — 0.2773241
—0.666851 — 1.1555301

0.65207 4 10.989401

4.47099 — 7.147731

—0.769280 + 0.8705791
0.905238 — 0.9072101
—1.00000
0.569964 + 0.6450171
0.862697 + 0.6154011

4.15083 + 0.667221

8.81639 — 2.106271

—0.769280 — 0.8705791
0.905238 + 0.9072101
—1.00000
0.569964 — 0.6450171
0.862697 — 0.6154011

> Q2 Bl 0 o8 g0 o9 g0
([ I

4.15083 — 0.667221

8.81639 + 2.106271

0.022189 + 1.1909501
0.559180 + 0.2218111

= —0.015639 + 0.8393731
= —0.273948 — 0.5200741

—3.06886 + 1.276801

5.83102 — 5.885141

= 0.022189 — 1.1909501
= 0.559180 — 0.22181171
= —1.00000
¢ = —0.015639 — 0.8393731
d = —0.273948 + 0.5200741

c
d
u
a
b = —1.00000
c
d
u
a
b

—3.06886 — 1.276801

5.83102 + 5.885141
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

0.253917 + 1.3703801

0.331031 — 0.5458071

= —1.00000

—0.130722 4 0.7055021
0.578102 — 1.0553301

—5.02390 — 6.794021

0.88161 + 7.094731

0.253917 — 1.3703801
0.331031 + 0.5458071
—1.00000
¢ = —0.130722 — 0.7055021
d=0.578102 + 1.0553301

U
a
b
c
d
U
a
b

—5.02390 + 6.794021

0.88161 — 7.094731
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V.IP=@W —2u+---+2d—1, —u" +ub+ - +c—2u, u" —2u® +-.- +
2b—1, —u" +2ub+---+2a—1, ud —u" +--- +2u2 + 1)

(i) Arc colorings

o ()

ag = (
az = (
ag = (
ag = (
su’ —ul 4+ fu+ g
a; = _1 7+u5+..._lu+l
2 2 2
a7 = (

U
o)
1,7 3 “1,2 .71, ‘1
Ut —u’ — 35U +2u 5
w’ —ub 4+ 2u® — 2ut + 4 — 3u + 2u
—%u7+u6+~--—%u+%

72u6+~~~+7u1>

ag =

u
$u7+u6+~~—§u+%
—u7—u5—u3—u2—|—u—2>
a5 =\ Ju'+uP 4+ ju+3
( %u7—2u6+~~+%u—% >
arz = \ —u” +u® — 205 + 3ut — 4u® + 3u® —2u+ 1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 2u® — 4u* + 6u® — 12u? + 6u + 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 u® 4+ 3u” + 8ub + 10u® + 14u* + 110> + 1202 + du + 1
C2,C3,Cs5
C6, C7, Cs u® —u” +2ub — 2u° 4 4ut — 3u + 2u% + 1
C12
C4,C10 ud —u” +3ub — 30’ +3ut —5ud +4u® —du+4
Co u® + 5u” + 9u® + Tu® + 3u* — u® + 16u + 16
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c1 y® + Ty" + 3245 + 829 + 146y* + 151y° + 8432 + 8y + 1
C2,C3,Cs5
y® 4 3y7 4+ 8y° 4+ 10y° + 14y* + 11y° + 129 + 4y + 1
Ce,C7,C8
C12
¢4, c1o y® 45y +9y° + 7y° + 3yt — ¢ + 16y + 16
C9 y® — Ty + 17y + 15¢° — 105y + 63> + 128y — 256y + 256
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

0.862697 + 0.6154011
—0.087246 — 0.7097421
1.087250 4 0.7097421 4.15083 4 0.667221 8.81639 — 2.106271
—0.768231 4 0.5480151
—0.769280 + 0.8705791

U
a
b

0.862697 — 0.6154011
= —0.087246 + 0.7097421

1.087250 — 0.7097421 4.15083 — 0.667221 8.81639 + 2.106271
—0.768231 — 0.5480151
—0.769280 — 0.8705791

0.578102 + 1.0553301
—0.71320 — 1.587281

1.71320 + 1.587281 —5.02390 + 6.794021 0.88161 — 7.094731
—0.399261 4 0.7288561

0.253917 — 1.3703801

0.578102 — 1.0553301
—0.71320 + 1.587281

1.71320 — 1.587281 —5.02390 — 6.794021 0.88161 + 7.094731
= —0.399261 — 0.7288561
0.253917 + 1.3703801

c
d
u
a

b

c
d
u
a
b
c
d
u
a
b

= —0.666851 + 1.1555301
= —0.90831 + 1.291231

= 0.374646 + 0.6491951
= 0.993174 + 0.2982131

= —0.666851 — 1.1555301
= —0.90831 — 1.291231
= 1.90831 + 1.291231 0.65207 4 10.989401 4.47099 — 7.147731
0.374646 — 0.6491951
d=0.993174 — 0.2982131

c
d
U
a
b= 1.90831 —1.291231 0.65207 — 10.989401 4.47099 + 7.147731
c
d
U
a
b
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Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

= —0.273948 + 0.5200741
= 1.20876 + 0.782251
= —0.208757 — 0.7822521
0.79285 4 1.505171
0.022189 — 1.1909501

—3.06886 — 1.276801

5.83102 + 5.885141

—0.273948 — 0.5200741
1.20876 — 0.782251
—0.208757 + 0.7822521
0.79285 — 1.505171
d=0.022189 + 1.1909501

U
a
b
c
d
U
a
b

c

—3.06886 + 1.276801

5.83102 — 5.885141
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VI I =
(d—u, u®—u*+2u+c—u—2, b+1, v’ +ud+2a+u—1, ub+ut+2ud+u?+u+2)

(i) Arc colorings

o ()

o=
o=
-
we (LT
(
(
(
(
(

a7 =

—u5—u4—u2—3u—1>

S +ut+- 4 Ju+ 3
a2 = u+ud +u+u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u* — 4u® — 8u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 w® +2u° +3ut + 20+t +3u+4
C2,C3,C4
6 4 3 2
5, C, C1 u +ut 4 2u” +ut +u+2
Cg, €10, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C9,C11 Yo + 2y + 3yt — 2y + 13y% —y + 16
C2,C3,C4
64 2y° +3y* + 2% + 1% + 3y +4
C5,Cg, C7 ) Y Y Y Yy Y
Cg, €10, C12
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Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + v/=1C)

Cusp shape

u = —0.931903 4 0.4289931
a= 0.79897 — 1.207161

b = —1.00000

¢ = —1.100360 — 0.0129511
d = —0.931903 + 0.4289931

2.86100 4 5.137941

7.31793 — 3.209021

u = —0.931903 — 0.4289931
a= 0.79897 + 1.207161

b = —1.00000

¢ = —1.100360 + 0.0129511
d = —0.931903 — 0.4289931

2.86100 — 5.137941

7.31793 + 3.209021

0.226699 + 1.0743307
0.085258 — 0.4040391

u =

a =

b = —1.00000 —7.36693 —4.63587 4 0.1
c= 4.03505 — 1.782271

d=0.226699 + 1.0743301

u= 0.226699 — 1.0743301

a= 0.085258 4+ 0.4040391

b = —1.00000 —7.36693 —4.63587 + 0.1

4.03505 + 1.782271
0.226699 — 1.0743301

CcC =

d:

0.705204 + 1.0387201
0.865771 + 0.8060351
b = —1.00000

1.56530 — 0.515711
d= 10.705204 + 1.0387201

u =

a =

CcC =

2.86100 + 5.137941

7.31793 — 3.209021

u= 0.705204 — 1.0387201
a= 0.865771 —0.8060351
b = —1.00000

1.56530 + 0.515711
0.705204 — 1.0387201

CcC =

d:

2.86100 — 5.137941

7.31793 + 3.209021
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VIL. I = (—u®*+d—1, —u5 —u?*+---4+2c—1, b+ 1, u>  +ud+2a+u—
1, ub +ut +2u +u? +u+2)

(i) Arc colorings
1
aq = 0
ag =
az =
a9 =

ag =

a7 =

(

(

(

( 3 1
e (LT

(

(

(

(

(

1.5 0 1,3 2 1. 1
Su” + U +u +su+ 3
ail = ud 41
1,5 1.3 2,1 1
U —gut tutt+qu— 3
aio = w+1
15 A3, 1
U 4“J2r U — 3
as = urtu +u+1
1,5 4 _1,3_3, 3
QU —u U U — 3
aiz2 = —u? —ut+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u* — 4u3 — 8u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 w® +2u° +3ut + 20+t +3u+4
C2,C3,C4
6 4 3 2
5, C, C1 u +ut 4 2u” +ut +u+2
Cg, €10, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C9,C11 Yo + 2y + 3yt — 2y + 13y% —y + 16
C2,C3,C4
64 2y° +3y* + 2% + 1% + 3y +4
C5,Cg, C7 ) Y Y Y Yy Y
Cg, €10, C12
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Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + v/=1C)

Cusp shape

u = —0.931903 4 0.4289931
a= 0.79897 — 1.207161

b = —1.00000

c= 0.885437 4+ 0.4076031
d= 0.705204 4+ 1.0387201

2.86100 4 5.137941

7.31793 — 3.209021

u = —0.931903 — 0.4289931
a= 0.79897 + 1.207161

b = —1.00000

0.885437 — 0.4076031
0.705204 — 1.0387201

CcC =

d:

2.86100 — 5.137941

7.31793 + 3.209021

0.226699 + 1.0743307
0.085258 — 0.4040391

u =

a =

b = —1.00000 —7.36693 —4.63587 4 0.1
c = —0.188043 + 0.8911361
d=0.226699 — 1.0743301
u= 0.226699 — 1.0743301
a= 0.085258 4+ 0.4040391
b = —1.00000 —7.36693 —4.63587 + 0.1

c = —0.188043 — 0.8911361
d= 0.226699 4+ 1.0743301

u = 0.705204 + 1.0387201
0.865771 + 0.8060351
b = —1.00000

c = —0.447394 4+ 0.6589811
d = —0.931903 + 0.4289931

a =

2.86100 + 5.137941

7.31793 — 3.209021

u= 0.705204 — 1.0387201
a= 0.865771 —0.8060351
b = —1.00000

c = —0.447394 — 0.6589811
d = —0.931903 — 0.4289931

2.86100 — 5.137941

7.31793 + 3.209021
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VIIL I = (—u®+d—1, —u®> —ud+.--+2c—1, —u®> —u*+.--+b—
2, u +ut+2u?+a+3u+1, ub +ut+2ud +u+u+2)

(i) Arc colorings

o ()

0
ag = U
1
a3: u2
—ud —ut —2u? —3u—1
az = \ w5+ ut+2u?4+3u+2
u
ag = \y3+u
—u® —ut —u? —3u—1
a1 = \u®+2ut+2u2+3u+2
—u
ar = U
ud —ut +2u? —u—2
ae = —ud 4+ ut —2u?+2
%u5+%u3+u2+%u+%
ai = w+1
b -t -
aig = w+1
_%us_u4+._%u_%
a5 = ut +u+u+1
_3u5_u4+..._%u_%
a2 =\ w® 4+ 2ut +2u¥ +4u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u* — 4u® — 8u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C9,C11 w® +2u° +3ut + 20+t +3u+4
C2,C3,C4
6 4 3 2
5, C, C1 u +ut 4 2u” +ut +u+2
Cg, €10, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C9,C11 Yo + 2y + 3yt — 2y + 13y% —y + 16
C2,C3,C4
64 2y° +3y* + 2% + 1% + 3y +4
C5,Cg, C7 ) Y Y Y Yy Y
Cg, €10, C12
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Solutions to I§

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + v/=1C)

Cusp shape

u = —0.931903 4 0.4289931
a = —0.030982 + 0.4599761

b= 1.030980 — 0.4599761
c= 0.885437 4+ 0.4076031
d= 10.705204 + 1.0387201

2.86100 4 5.137941

7.31793 — 3.209021

u = —0.931903 — 0.4289931
a = —0.030982 — 0.4599761

= 1.030980 + 0.4599761
0.885437 — 0.4076031
0.705204 — 1.0387201

CcC =

d:

2.86100 — 5.137941

7.31793 + 3.209021

0.226699 + 1.0743301
a = —1.82948 — 3.930921

u =

b= 2.82948 + 3.930921 —7.36693 —4.63587 4+ 0.1
c = —0.188043 + 0.8911361

d=10.226699 — 1.0743301

u= 0.226699 — 1.0743301

a = —1.82948 4 3.930921

b= 2.82948 — 3.930921 —7.36693 —4.63587 + 0.1

c = —0.188043 — 0.8911361
d= 0.226699 4+ 1.0743301

u = 0.705204 + 1.0387201
a = —0.63953 — 1.262231
b= 1.63953 4 1.262231
c = —0.447394 4+ 0.6589811
d = —0.931903 + 0.4289931

2.86100 + 5.137941

7.31793 — 3.209021

u= 0.705204 — 1.0387201
a = —0.63953 4 1.262231
b= 1.63953 —1.262231
¢ = —0.447394 — 0.6589811
d = —0.931903 — 0.4289931

2.86100 — 5.137941

7.31793 + 3.209021
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IX.I¥=(d—u, c+2,b+1,a®>—a+u+1, u>+u+1)

(i) Arc colorings
1
aq = O
ag —
asz =
as =

(
(
(
=

o= (Y

(

(

(

(

(

a7 =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u + 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 ut 4+ 3ud +2u? + 1
Ca,C5, C
255,76 ut —u? 4+ 2u® — 2u+1
C12
€3, €4, C7 (u® 4+ u+1)?
€8, C9, C10
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C11 yt =5y 6y Ay +1
C,Cs5,Cq y4+3y3+2y2+1
C12
C3,C4,C7 (yQ +y+ 1)2
€8, C9, C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ v—1(vol + /—1C5) Cusp shape

—0.500000 + 0.8660251
—0.070696 + 0.7587451
—1.00000 —3.28987 — 2.029881 4.00000 + 3.464101
—2.00000

—0.500000 + 0.8660251

U
a
b

—0.500000 + 0.8660251
= 1.070700 — 0.7587451
—1.00000 —3.28987 — 2.029881 | 4.00000 + 3.464101
—2.00000

—0.500000 + 0.8660251

—0.500000 — 0.8660251
—0.070696 — 0.7587451
—1.00000 —3.28987 4 2.029881 | 4.00000 — 3.464101
—2.00000

—0.500000 — 0.8660251

—0.500000 — 0.8660251
1.070700 + 0.7587451

—1.00000 —3.28987 + 2.029881 | 4.00000 — 3.464101

—2.00000

—0.500000 — 0.8660251

c
d
U
a

b

¢

d
U
a

b
c
d
U
a

b
c
d
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X. Ii‘o =
(—uP+d—u+1, —u+u?+c—2u+2, b+1, —ud+a—2u, u*—ud3+2u?—-2u+1)

(i) Arc colorings

o ()

ag =

az =
ud + 2u
az = -1
u
ag = \yd+u

a7 =

)

—u +u2—2u+2)

(
(
(
(
o= (4
(
(
(
(
(

ag = w+2u—1
w—u?+2u—2
ail = wHu—1
—u? 4+ u—1
a0 =\ uwWd+u—1
U
as = \ud+u
uwl+2u—1
a2 = \y3 —u24u—2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? + 4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4 (u2 +u+ 1)2
€6, C9, C10
C3,Cs,C
3¢5, ¢7 ut —ud 4 2u? —2u + 1
€8, C12
c11 ut + 30 + 202 +1
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C2,C4 (yQ +y+ 1)2
€6, C9, C10
C3,Cs5,C7 y4+3y3+2y2+1
€8, C12
11 y* =5y +6y° + 4y +1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.621744 + 0.4405971
1.12174 + 1.306621
—1.00000 —3.28987 — 2.029881 4.00000 + 3.464101
—1.070700 + 0.7587451
—0.500000 + 0.8660251

U
a
b

0.621744 — 0.4405971
= 1.12174 — 1.306621

—1.00000 —3.28987 + 2.029881 | 4.00000 — 3.464101
—1.070700 — 0.7587451
—0.500000 — 0.8660251

—0.121744 + 1.3066201
0.378256 + 0.4405971
—1.00000 —3.28987 4 2.029881 | 4.00000 — 3.464101
0.070696 + 0.7587451
—0.500000 — 0.8660251

—0.121744 — 1.3066201
0.378256 — 0.4405971
—1.00000 —3.28987 — 2.029881 | 4.00000 + 3.464101
0.070696 — 0.7587451
—0.500000 + 0.8660251

c
d
U
a

b

¢

d
U
a

b
c
d
U
a

b
c
d
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XI. Ii‘l =
(—ul+d—u+1, —ud+u?+c—2u+2, b+1, ud+a+2u—1, ur—u+2u?—2u+1)

o ()
-
-
e
w- 2
N
(
(
(
(
(

a7 =

ag —
w—u?+2u—2
ail = wHu—1
—u4+u—1
a0 =\ uwWd+u—1
u
as = \ud+u
—u? — 2u
a2 =\ —ud—u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? + 4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ut + 3ud 4+ 2u% + 1
€2, €3, C6 ut —ud +2u? —2u+ 1
C7,C8
64765769 (u2+u+1)2

€10, C11, C12

48



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“a y* — 5y 4+ 6y% + 4y + 1
C2,C3,Cq y4+3y3+2y2+1
C7,C8
C4,C5,C9

€10, C11, C12

(v> +y+1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to 174 v—1(vol + /—1C5) Cusp shape

0.621744 + 0.4405971
—0.121744 — 1.3066207
—1.00000 —3.28987 — 2.029881 4.00000 + 3.464101
—1.070700 + 0.7587451
—0.500000 + 0.8660251

U
a
b

0.621744 — 0.4405971
= —0.121744 + 1.3066201
—1.00000 —3.28987 + 2.029881 | 4.00000 — 3.464101
—1.070700 — 0.7587451
—0.500000 — 0.8660251

—0.121744 + 1.3066201
0.621744 — 0.4405971
—1.00000 —3.28987 + 2.029881 4.00000 — 3.464101
0.070696 + 0.7587451
—0.500000 — 0.8660251

—0.121744 — 1.3066201
0.621744 + 0.4405971
—1.00000 —3.28987 — 2.029881 | 4.00000 + 3.464101
0.070696 — 0.7587451
—0.500000 + 0.8660251

c
d
U
a
b
¢
d
U
a
b
c
d
U
a
b
c
d
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XIL I, =
(ud+d+2u—1, —ud+u?+c—2u+2, b+1, —ud+a—2u, u*—ud+2u?—-2u+1)

(i) Arc colorings

o ()

ag =

az =
ud + 2u
az = -1
u
ag = \yd+u

a7 =

)

—u +u2—2u+2)

ag = wd+2u—1
w—u?+2u—2

aj; = —ud —2u+1
2ud —u?+4u—3

aio = —ud —2u+1

(
(
(
(
o= (4
(
(
(
(
(

2u3 — 2u? + 4u — 3
a2 = \ —2u® + u? — 4u + 2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u? + 4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,€2,C5 (u2+u+1)2
Ce6, C11, C12
C3,Cyq, C
34, C7 ut —ud 4 2u? —2u + 1
g, C10
€9 ut + 3ud 4+ 2u% + 1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y2+y+1)2
Ce6, C11, C12
C3,C4,C7 y4+3y3+2y2+1
g, C10
Co y' —5y° + 6y + 4y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I74 v—1(vol + /—1C5) Cusp shape

0.621744 + 0.4405971
1.12174 + 1.306621
—1.00000 —3.28987 — 2.029881 4.00000 + 3.464101
—1.070700 + 0.7587451
—0.121744 — 1.3066201

U
a
b

0.621744 — 0.4405971
= 1.12174 — 1.306621

—1.00000 —3.28987 + 2.029881 | 4.00000 — 3.464101
—1.070700 — 0.7587451
—0.121744 + 1.3066201

—0.121744 + 1.3066201
0.378256 + 0.4405971
—1.00000 —3.28987 + 2.029881 4.00000 — 3.464101
0.070696 + 0.7587451
0.621744 — 0.4405971

—0.121744 — 1.3066201
0.378256 — 0.4405971
—1.00000 —3.28987 — 2.029881 | 4.00000 + 3.464101
0.070696 — 0.7587451
0.621744 + 0.4405971

c
d
U
a
b
¢
d
U
a
b
c
d
U
a
b
c
d
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XIIL Iy, =(au+d, c—u—1,b+1,a’>—a+u+1, u>? +u+1)

(i) Arc colorings
1
aq = O
ag —
asz =
as =

(
(
(
=

o= (Y

(

(

(

(

(

a7 =

—au—2a+u+1
au+a—u

2au + a
a2 = \—au+a—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u + 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Co ut +3ud + 202+ 1
Ca,Cq, C
2 T 76 ut —u? 4+ 2u® — 2u+1
€10
c3, Cs, C7 (u2+u+1)2
€8, C11, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Co yt —5y? + 697 +4y + 1
C2,Cy4,Cq y4+3y3+2y2+1
€10
€3,Cs5,C7 (yQ +y+ 1)2
€8, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I{4 v—1(vol + /—1C5) Cusp shape

—0.500000 + 0.8660251
—0.070696 + 0.7587451
—1.00000 —3.28987 — 2.029881 4.00000 + 3.464101
0.500000 + 0.8660251
0.621744 + 0.4405971

U
a
b

—0.500000 + 0.8660251
= 1.070700 — 0.7587451
—1.00000 —3.28987 — 2.029881 | 4.00000 + 3.464101

0.500000 + 0.8660251
—0.121744 — 1.3066201

—0.500000 — 0.8660251
—0.070696 — 0.7587451
—1.00000 —3.28987 + 2.029881 4.00000 — 3.464101
0.500000 — 0.8660251
0.621744 — 0.4405971

—0.500000 — 0.8660251
1.070700 + 0.7587451
—1.00000 —3.28987 + 2.029881 | 4.00000 — 3.464101
0.500000 — 0.8660251
—0.121744 4 1.3066201

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b

c
d
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XIV. I, =(d*+du—u, c—u—1, b+2u, a—2u—1, v>* + u+1)

(i) Arc colorings
1
aq = O
ag —
asz =
as =

ag =

2
—u—2
u—+1

d
d

+u+1>

d
—2du—d+u+1)

du —u

(

(

(

(
n= (%)

()

(

(

(

(

du+d+2u+1
aiz = —du —u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u + 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
€1,¢2, 3 (u? +u+1)°
C6, C7,C8
C4,Cs5,C10 W —2u+1
C12
Cy, C11 ut + 30 + 202 +1

60



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y2+y+1)2
C6, C7,C8
C4, C5, C10 y4+3y3+2y2+1
C12
€9, C11 y' —5y° + 6y + 4y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I74 v—1(vol + /—1C5) Cusp shape

—0.500000 + 0.8660251
1.732051

1.00000 — 1.732051 —3.28987 — 2.029881 4.00000 + 3.464101

0.500000 + 0.8660251

0.621744 + 0.4405971

U
a
b

—0.500000 + 0.8660251

= 1.732051
1.00000 — 1.732051 —3.28987 — 2.029881 | 4.00000 + 3.464101
0.500000 + 0.8660251

—0.121744 — 1.3066201

—0.500000 — 0.8660251
—1.732051

1.00000 + 1.732051 —3.28987 + 2.029881 4.00000 — 3.464101

0.500000 — 0.8660251

0.621744 — 0.4405971

—0.500000 — 0.8660251
— 1.732051

1.00000 + 1.732051 —3.28987 + 2.029881 | 4.00000 — 3.464101

0.500000 — 0.8660251

—0.121744 4 1.3066201

c
d
U
a

b

¢

d
U
a

b
c
d
U
a

b
c
d
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XV.Ilx =(d, c—u, b+u+1, a—u, u?+1)

(i) Arc colorings

u- (o)

ag —
az =
ag =
ag =

ap =

(
(
(
(
(
o ()
- (
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C11 (u — 1)
C2,C3,Cs5
2
€6, C7,C8 u+1
C12
2
C4, C9, C10 (%
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C1 (y—1)
C2,C3,Cs5
2
Ce,C7,C8 (y+1)
C12
2
C4,Cg, C10 y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +1/=1CS) | Cusp shape
U = 1.0000001
a= 1.0000001
b = —1.00000 — 1.000001 —4.93480 0
c= 1.0000001
d= 0
U = — 1.0000001
a= — 1.0000001
b = —1.00000 4+ 1.000001 —4.93480 0
c= — 1.0000001
d= 0
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XVL Iy =(d4+u, c—u+1,b+1,a—1, u?+1)

(i) Arc colorings

u- (o)

= (5

e (1)
e (1)
w- (;

e (1)
o= ()
w- ()
o= ("2
oo (")
o= ()

= 1
U
a2 = \—u—1

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C2,C¢ U
€3,C4,C5
2
€7, €8, C10 u+1
C12
2
Cg,C11 (u — 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C2,Cq Yy
€3,C4,C5
2
C7,C8,C10 (y+1)
C12
2
C9, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +1/=1CS) | Cusp shape
U = 1.0000001
a = 1.00000
b = —1.00000 —4.93480 0
¢ = —1.00000 + 1.000001
d= — 1.0000001
U — 1.0000001
a 1.00000
b = —1.00000 —4.93480 0
¢ = —1.00000 — 1.000001
d= 1.0000001
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XVIL I, =(d4+u, c—u+1, b+u+1, a—u, u?+1)

(i) Arc colorings

u- (o)

o

o= ()
e ()
o ()
o= ("2
= ()
w- ()
o= ("2
oo (")
we ()
o= ("2

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C9 (u — 1)
C2,C3,C4
2
€6, C7,C8 u+1
C10
2
C5,C11,C12 (%
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
€1, Co (y—1)
C2,C3,C4
2
Ce,C7,C8 (y+1)
C10
2
C5,C11, C12 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I{%

V=1(vol + y/=1CS)

Cusp shape

U
a
b

1.0000001
1.0000001
—1.00000 — 1.000001
—1.00000 + 1.000001
— 1.0000001

—4.93480

o o 2 £/ o
\

Q
Il

— 1.0000001
— 1.0000001
—1.00000 + 1.000001
—1.00000 — 1.000001
1.0000001

—4.93480

74



XVIIL Iy =(d+u, ca—au+u+1, b+a+1, u?+1)

(i) Arc colorings

w- (o)

ag —
az =
ag =

(
(
(

o
o= ("2
(

(
(
(
(

ar =

(ii) Obstruction class = —1
(iii) Cusp Shapes = —6

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.

(0]



(iv) Complex Volumes and Cusp Shapes

Solution to Ijs | v/—1(vol ++/—1CS) Cusp shape
u = e e .
a/ = e e s
b= —6.57974 —6.00000
c—
d =
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XIX. I ={a, d+v, —av+c+v+1, b+1, v2+1)

(i) Arc colorings

= (o)
)

ag —
az =

ag =

)

)_x

v

ag = 0

ar =

S < o

@\_/\_/HHV

)
)
v+ 1)
P

(ii) Obstruction class =1

(
(6
(¢
(
a- (0
(
-
W=
ol
w0

(iii) Cusp Shapes =0

7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 2
C1,C9, C11 (u— )
C2,Cq,C
2,C4,C5 U2 + 1
Cg,C10, C12
2
C3,C7,C8 u
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
—1)2
C1,C9, C11 (y )
C2,C4,C5 (y+1)2
Cg,C10, C12
2
€3,C7,C8 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7 v—1(vol +v/—1CS) | Cusp shape

1.0000001
0
—1.00000 —4.93480 0
—1.00000 — 1.000001
— 1.0000001

v
a
b

— 1.0000001
0
—1.00000 —4.93480 0
= —1.00000 + 1.000001
1.0000001

QU o o 8 S| o
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XX. u-Polynomials

Crossings u-Polynomials at each crossing
u?(u —1)%(u? +u + 15 (u* + 3u® + 2u? +1)3
€1, €9, €11 (P 4 2u* + 5uP + 3u? 4 6u — 1)(u® + 20 + 3ut + 2u® + u? + 3u + 4)3
(u® 4 3u” + 8ub + 10u® + 14u* + 1103 + 120 + 4u + 1)3
(u® 4 5u” 4 9ub + Tud + 3ut — uP + 16u + 16)
Ca,C3,Ca w?(u? + 13w +u+ 1D —u 420 —2u+1)3
C5,C, CT (b Fud A u? 4 2u — 1) (uS et 20 4w+ 2)3
€8, €10, C12 (B =" 4 208 — 208+ dut - 3ud 20 +1)3

(u® —u" 4 3u® — 3ud + 3ut — 5ud + 4u® — du + 4)
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XXI. Riley Polynomials

Crossings Riley Polynomials at each crossing
v (y— 1% +y+ 10y — 5y +6y° + 4y + 1)°
c1,C9,C11 (y® + 6yt + 25y + 55y% + 42y — 1)
(y® +29° + 3y* — 2¢% + 13y — y + 16)°
(y® =Ty + 17y° + 15y° — 105y* + 63y> + 128y* — 256y + 256)
(y® + Ty 4 32y5 4 82y° 4 146y + 151y° + 84y + 8y + 1)°
ezescn | P+ 1) +y+ D)0 + 3y + 207 +1)°
€5 Co, C7 (WP 42" + 5y + 307 + 6y — 1) (y° +20° +3y" + 2% + 47 + 3y +4)°
€8, €10, C12 (4 3y" + 8y +10y° + 14yt + 1193 + 1202 + 4y +1)3

(0° +5y" +9y° + 79" + 3y* — y® + 16y + 16)
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